
Quest ce que le cadeau  H' - ? ( )Quel nombre se trouve dans chaque cadeau?
62 + 62 = 52 + 20 = 41 + 63 =14 + 20 = 78 + 85 = 97 + 45 =50 + 70 = 33 + 30 = 70 + 65 =43 + 38 = 71 + 56 = 72 + 74 =74 + 15 = 59 + 25 = 95 + 36 =33 + = 41 85 + = 175 62 + = 7930 + = 116 97 + = 131 7 + = 5050 + = 134 52 + = 130 37 + = 605 + = 33 56 + = 66 82 + = 1518 + = 91 89 + = 179 14 + = 97+ 64 = 134 + 79 = 87 + 3 = 10+ 31 = 116 + 51 = 114 + 69 = 127+ 6 = 85 + 84 = 91 + 14 = 103+ 80 = 126 + 5 = 22 + 19 = 64+ 62 = 155 + 67 = 113 + 62 = 110
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Quest ce que le cadeau  H  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
62 + 62 = 124 52 + 20 = 72 41 + 63 = 10414 + 20 = 34 78 + 85 = 163 97 + 45 = 14250 + 70 = 120 33 + 30 = 63 70 + 65 = 13543 + 38 = 81 71 + 56 = 127 72 + 74 = 14674 + 15 = 89 59 + 25 = 84 95 + 36 = 13133 + 8 = 41 85 + 90 = 175 62 + 17 = 7930 + 86 = 116 97 + 34 = 131 7 + 43 = 5050 + 84 = 134 52 + 78 = 130 37 + 23 = 605 + 28 = 33 56 + 10 = 66 82 + 69 = 1518 + 83 = 91 89 + 90 = 179 14 + 83 = 9770 + 64 = 134 8 + 79 = 87 7 + 3 = 1085 + 31 = 116 63 + 51 = 114 58 + 69 = 12779 + 6 = 85 7 + 84 = 91 89 + 14 = 10346 + 80 = 126 17 + 5 = 22 45 + 19 = 6493 + 62 = 155 46 + 67 = 113 48 + 62 = 110
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